52
521

S1 S6
11

90

522

53
2000 12

90
47

40 )
15
5 37
L1 L2
5-1 5-3
S4 L1

29

S2

45

S6



5-1

30

1)



S1 t
S1 S2

S2
S2

31

5%

5%



100  |OS1 mS2 ES3 OS4
ES5 mS6 WLl ML2
80
5 60 T —1
40 H
20 |
0
1998/10 1998/11 1998/12  1999/7 ~ 1999/9  1999/11  2000/7 ~ 2000/9  2000/11
5-3
800
OSl mS2 mS3 OS4
700

IS5 WS6 HLL mL2 H
600

500

(10%cm?)

300

200

100

1998/10 1998/11 1998/12  1999/7  1999/9

1999/11  2000/7  2000/9  2000/11

5-4

32



50 —

0S1 mS2 @S3 0S4 ES5

HS6 EL1 mL2

T
40 X"‘|]|ﬁ[“"
1998710 1998711 1998/12 1999/7

1999/9  1999/11  2000/7 2000/9
55
7.0
0S1 mS2 mS3 0S4

60 [1mS5 mS6 WLl mL2

50 Ik [
£40
£

3.0

20

1.0

0.0

1998/10

1998711

1999711

1998/12 1999/7

1999/9 2000/7
5-5

2000 11

5-1

33



S1

S3 S5 L1 L2

5-1 2000 11
(10%cm®)
1 68.6 + 16.3 a 304 + 161 a
2 86.4 + 12.4 b 306 + 85 a
3 83.1 + 12.0 bc 482 + 175 b
4 93.9 + 10.5 bd 593 + 187 bc
5 96.5 + 11.5 de 580 + 188 bcd
6 86.1 + 8.69 bcf 439 + 153 be
1 91.1 + 9.63 bhdef 533 + 175 bcdef
2 83.8 + 13.8 bcf 471 + 171 bef
5%
2 8 20%

34

40%



